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Question ID: 1269441

Question Type: | MCQ

fTE7 Ao esfe SRR= BT

(a) NEFITHE WrTew ©1F ©F JeUid TAASF |

(B) [NGZatTa wrrew o9 wiad Gord fMoaeie w7 |
Question: () [NGlFatTa 9y ©ig o STg STt |

(D) GIFTTa 99 ©lF ©F SeLTF TN S0H FAATS! |
(E) [RGE 0T 9979 ©Id wd ST BT o alel =g |

o [P0 =3,

A Y (A) G998 (D) |
B: BY (A) AR (BE) |
C: @Y (B) 9493 (E) |
D: Y (A) G938 (O) |
Topic: Physics-Section A
Item No: 42

Question ID: 1269442

Question Type: | MCQ

B0 1 kg OIAF IBLE 9D (A1H AT AL fon ey Geowrg T
Question: (510 I (S *ifea 3,
[TYH g=10ms™ A8 QI@%]'_Q' T = 6400 km)

A: 48 MJ

B: 24 MJ

C: 36 MJ

D: 12 MJ

Topic: Physics-Section A
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Topic: Physics-Section A
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Question ID: 1269453
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Iltem No: 61
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MCQ

C(s) + O,(g) — CO,(g) + 400 kJ

C(s) +305(2) — CO(g) + 100 kJ

Question: | wrorge WITHTGIAT SRS 60% @GS =518 FTH TZH 60% TN
‘CO’-(® FATBIEAS X 498 WA WA “CO, - FABEAS 2 0.6 kg
ATV S ARLA OGS ST AT .

A: 1600 kJ

B: 3200 kJ

C: 4400 kJ

D: 6600 kJ

Topic: Chemistry-Section A

Item No: 64

Question ID: 1269464

Question Type: | MCQ

400 mL 0.01M H,S0, —97 3= 200 mL 0.01 M HCI (T =&l =09 pH

Question: |
I[?ff"ﬁ :log 2=10.30,log 3 =0.48. log 5=0.70, log 7=0.84. log 11 = 1.04)
A 1.14
B: 1.78
C: 2.34
D: 3.02
Topic: Chemistry-Section A
Item No: 65
Question ID: 1269465
Question Type: | MCQ

HBITHIO A TG NIl (NG (T =7

SITTS IF0 SIMIal (K)
He= 52
_ CH, 190.0
Question: co, 3010
NH; 4055
A5G MR AT SIHFIATT SHF (T 511 N S ST
(RIS,
A: He




B: CH4
CO,
D: NH3
Topic: Chemistry-Section A
Item No: 66
Question ID: 1269466
Question Type: | MCQ
Question: fBd (Sn) SFANW Agfere 4rg AR[E 0y
A: WG E SU9F Sn-47 A9 96T =91
B GLel S BAwS H1 21|
C: TH(T BIET 51eT® Sn-(F QMRS FA1 2|
D NaOH- 4% 5% G S =239
Topic: Chemistry-Section A
Item No: 67
Question ID: 1269467
Question Type: | MCQ
fTs f f3fS i =t

131 1. oI AH0 WIVRE T2GRG-47 GARF

Question: (IS 11: ST G0 FAoA T
GHFA 930 feTT SANS W5 (ReT RSgaie ((F A2F Sadlb
EEEIGIE

A: 73 1 93¢ K51 11 w3z 5

B: 73 1 432 {91 11 w32 el

o 3o 1 5=, e [ 1wl

D: 495 1 w4, (5w 9gfe 1 I

Topic: Chemistry-Section A

Iltem No: 68

Question ID: 1269468

Question Type: | MCQ

Question: GrIG AN ST s G (TGS PITes <X /sl <X 59
. i |

A: CaSO, - 3 H,0

B: CaS0O, - 2H,0




CaSO,

D: CaCOg4

Topic: Chemistry-Section A
Item No: 69

Question ID: 1269469

Question Type: | MCQ

A6 MBI 09 CoO (ATATF FRCIMST &6 8% FATT B8 T NIt ea

Question: AL = iy

A: B,0;

B: Co(BO,),

C: CoB40O4

D: Co[B405(0H)4]

Topic: Chemistry-Section A

Item No: 70

Question ID: 1269470

Question Type: | MCQ

Question: Gl 1¥ NN TGS B (NHES (P 3d-4Tg-WR SAE
ZIROGITGH-ST9 (INEI) (A, gH) O ¥ B,

A C2t

B: MnZ™

C: Fel™

D: Co2"

Topic: Chemistry-Section A

Item No: 71

Question ID: 1269471

Question Type: | MCQ

Question:

FAR (ID)-I9 WBSA! Gibel (AT TSNS [Pho (RNH-(BAR) T
N 2me AR (IT) Tifee Csrasfera Wiay (@i SfE< (Maximum)
STON-[RPNS (MATA,

(en = BT GIROMNA: H,N-CH,-CH,-NH, )

cis-[Cu(en),Cl,]

9|0 ® | >

trans-[ Cu(en),Cl,]




Topic: Chemistry-Section A
Item No: 72

Question ID: 1269472

Question Type: | MCQ

GIR-NRLGIGH JH16 HG (151 Ze18 WHH SHory 23] [N HF

Question: WHEG TS HH BLA| ARLHITGIAE (T WIHRG SR AT 5Fo Bld A48
HICATR HLHA 2 P4,

A: NO
B: NGE_
C: NOE
D: NOE_
Topic: Chemistry-Section A
Item No: 73
Question ID: 1269473
Question Type: | MCQ
Question: 1-PIZ STRPIRETN SRR RG-LIF SO 5,

O

|
A: H

|O|
B: \O/CHz —(C—H
O
[
C: (J/\ H
O

D:




Topic: Chemistry-Section A
Item No: 74

Question ID: 1269474

Question Type: | MCQ

«4° CIN9IG ome (A Geara 5T <3 9T e g S0a | B (515 a THF

WIFS 33 ATl =F

Question: (i) Mg. EtnO B
(i) D0
Br
Compound 'A’

A: >—< o

p +A¢ ira
B >_< , Chiral

0D
C: >_< _Chiral

D
D: >—/\UD Achiral
Topic: Chemistry-Section A
Iltem No: 75
Question ID: 1269475
Question Type: | MCQ




AT 6 [A9fs e =1 .

CH,4
| NO,
S |7 H  CHED SR A
e
Question: CH;, (A)
CH,
o 0N 915 Sz CoTR s orrRafeRE
H NN
S OH
EEEIRD]
Wio® [[AFg bize Far
A: 33 1 493 K91 11 S3E SH|
B: 33 1 43¢ K91 11 T2 el
C: Ko 190, g RIS 1 o=
D: [R9e 1 9, (%3 [0 11 1151
Topic: Chemistry-Section A
Iltem No: 76
Question ID: 1269476
Question Type: | MCQ

RN 516 H,S0, SATHITHT JB10 ST B8 e =1 (IVNI [[PIHHF IS

Aueston: Y G TR S0% A ST RGP (7 GRS B o =9
A: FUAGRRG

B: FF Sl

C: RIET T

D: ERRIEES IR

Topic: Chemistry-Section A

Item No: 77

Question ID: 1269477

Question Type: | MCQ

Question:

f2estarsf (Hinsberg) [EEIEEETGE




A E|, —(Cl
' |
0
N," CI
0
C: N K
y
’ /O/
HO
Topic: Chemistry-Section A
Item No: 78
Question ID: 1269478
Question Type: | MCQ
Question: ~HEAYS (FWI6 31@31\335 CGHEEEE
A: [ﬂ]’%?ﬂ
B (ST (°016)
C: BIGIE]
D (3=
Topic: Chemistry-Section A
Item No: 79
Question ID: 1269479
Question Type: | MCQ

fat 7ft 3f® omw . 9% WfF A 993 =i FET R Fi0% fofZwl
W A: SOTNIRCENG] Get SH1E7|

Question: AT R: SRS 200-47 ({3 SEILRICT B SRS (5 AT-
e =
AF f[APgn bizw +4

A: A J93 R BONE HHF J9¢ R, A-O7 SBS I




B: A 98 R BONE HIB I1¢ R, A-GF OB 1L 7|
C: AT [FF R HEF w3

D: ANPFE T ﬁﬁﬁ R Ao

Topic: Chemistry-Section A

Item No: 80

Question ID: | 1269480

Question Type: | MCQ

(15T <X GG . WH NaOH 498 CH;,COOH-AF 21 [R™F FIRIPIE pH-

Question: 4 2] 1T A[ION (AT SHIETRIY NN (57 <X Weee Srag A
X’ (51T =24 :

A: FI2rEe =ag

B: NEE ([0

C: (NI

D: BERICO M ENENN

Topic: Chemistry-Section B

Item No: 81

Question ID: 1269481

Question Type:

Numeric Answer

200 g M (Ne)- 99 RS x* ¢ MRS WHGH (0,) FNEe Fa1 234
TSI [NERT 0, IR Ne- a7 INETTF B 25 barl IFR SITNIAT &

Question: WITOLN Ne—d9 ¥ 51 20 barl
= -Eg Al .
[AWE : Dz-ﬁmﬁﬂ ©F =32 g mol | Ne-4F (AT ©F = 20 g mol™!]
Topic: Chemistry-Section B
Item No: 82
Question ID: 1269482

Question Type:

Numeric Answer

PF<. BiF<. PCl;. SF. [IC1,]". CIF;, IF 5. SR OISR eTa WY spd?

Question:

HLFANTS YHAAN-IF T
Topic: Chemistry-Section B
Item No: 83

Question ID:

1269483




Question .
Type: Numeric Answer
62.5 cm’ R 1.80 g AT ‘A’ HA9S 1 2 498 42 FICTF FRN% 070
Question: (5% 155.1 KI A1R7 A-4F (T ©Fis g mol !l
[ : 2T [RNTF 156.0 K| 2ATAET 997F 0.80 g em™| 2N [RAE WINAN I 2.00 K kg mol 1]
Topic: Chemistry-Section B
Item No: 84
Question ID: | 1269484

Question Type:

Numeric Answer

Cu(s) | Cu?™(0.001M) || Ag™ (0.01M) | Ag (s)
208 K OIHTET 42 (FITF (F1E-[9w7 0.43 VI

Question: Cu?™/Cu-9 &9 \3@'-?, AR CE TG .
[2MS |Given : Efg+ iy —080 V and 228RT 4 06v| <3¢

Topic: Chemistry-Section B

Item No: 85

Question ID: | 1269485

Question Type:

Numeric Answer

4TF (oW T JB(0 I P 9T 30 I57 WL [E IS0 (GG O
X~ 9 1ug AR TICTET TIGR| 100 IRT AT 82 MR IoAA

Question:
X7 A <107 1g.
[SM8 : In 10 = 2.303: log 2 = 0.30]
Topic: Chemistry-Section B
Item No: 86
Question ID: 1269486

Question Type:

Numeric Answer

Na[Co(bpy)Cl,] ~4 TSN (FRIFH GIIT T G (FTAGLATH FL
R

Question:

Topic: Chemistry-Section B
Item No: 87

Question ID: 1269487

Question Type:

Numeric Answer




HEFR Ofed 2mMe SE-Snoe

Question: H,S05 . H,S0, . H,S,04 38 H,S,0- -9 (4] Fo8fe] SF-anhies
HATTCH (0-0) THN ANE__|

Topic: Chemistry-Section B

Item No: 88

Question ID: 1269488

Question Type:

Numeric Answer

92.0 g/mol IR ©F TT=F JHI0 NTRDF EIHIRAT (91 X' -aF

Question: 1.84 mg AT 2T SITZT STP (S 1.344 mL WTTOINS H, gas (H1 (50
X WNEATRIRA AMHE RGO FLLT |

Topic: Chemistry-Section B

Item No: 89

Question ID: 1269489

Question Type:

Numeric Answer

HCN-4 RS (+) Ph(C = 0)C(OH) (CN)Ph-47 [ sifde famfass

Question: ST (PO SSTRTINIR)- 49 57 _|
[T Ph 25 = CHs-]

Topic: Chemistry-Section B

Item No: 90

Question ID: 1269490

Question Type:

Numeric Answer

Question:

(SFIATNUSR e 7 FARATATA- (I~ NI FLL FCY J78
|




